Parameter Scenario Observed Expected

fazcos (¢s3)  on-shell  —0.000170:90% [-0.163,0.090]  0.0000735015 [—0.082,0.082]
any I'yy 0.0000*905% [—0.0165,0.0087]  0.0000™ 35012 [—0.038,0.038]

Ty =TI$M  0.0000")000 [—0.0067,0.0050] 0.0000"5901% [—0.0098,0.0098]
fa2cos (p2)  on-shell  0.0004 59926 [—0.0055,0.0234] 0.0000" 95059 [—0.021,0.035]
any I'y 0.0004 50056 [—0.0035,0.0147]  0.0000™ 00015 [—0.015,0.021]
Ty=T3M  0.00057000% [—0.0029,0.0129]  0.0000"0-9%12 [—0.010,0.012]
farcos (¢a1)  on-shell  0.0002730050 [—0.209,0.089]  0.0000"0-9002 [—0.059,0.032]
any I'yy 0.0001 90082 [—0.090,0.059]  0.0000™ 00055 [—0.017,0.019]
Iy =T{M  0.000119002 [—0.016,0.068]  0.00000505 [—0.015,0.018]
[ - ]

Zy Zy
faq cos | @ixq on-shell

0.3554

—0.17,0.61]

0.0000 9098 [—0.098, 0.343




